% LAPPSET.  A10038

FINNO 1
D 20.8.2018

|

IV

3




% LAPPSET.

A10038

Copyright Lappset Group Ltd

FINNO 3
DATE: 20.8.2018 a
707918—706|pcs 900240 |pcs 903533 |pcs 905086 |pcs 905112  |pcs 905801 PCS
14 6 4 416 4
@8x70 SRL12 ?44/13.5 BLACK @22 GREY
905811 PCS 905821 PCS 905829 |pcs 905831 PCS 905850 |pcs 905859 |pcs
4 8 8 2
GREY GREY TRANSPARENT BLACK 6x80x850
905860 |pcs 909205 |pcs 909248 |pcs 909274 |pcs 980150 |pcs 980151 PCS
' 176 4| 180 8
= o \./
8x60 M12 8x30 M8 @16 /8.4
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS




% LAPPSET.  A10038
DATE: 20.8.2018

NNNNN

111111

TTTTTTTTTTTTTTTTTT

000000




% LAPPSET. TUBE INSTALLATION GENERAL

PLATE AND RINGS

FINNO DATE: 1.6.2016
DET 1 DET 2
905112
D
- . M8
- (980150)
TUBE 905831
706512
Boom
Out Side |
; 905112
=)
DET 3 DET 4 M8x60 905112
905112 (909205)

9058351

M3
(980150)

9051172

DET 5 DET 6

AP M8
Hi— (909208)

MBx60

(909866)

 88x70
900240

Drill through the

holes you need

- 900851 Plug the hole

what you don’t need

Copyright 1998 lLappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET.  A10038

FINNO DATE: 20.8.2018 4b
905850 905850 905850
Q
\ O
MWD
A ;V’;‘:, ‘,:p‘,,ij_,_} ,P ’;:V/JL:P , 7, »p%
905850 905850 905850

905860

905859
\. 016 /8.4

M8




Copyright Lappset Group Ltd

% LAPPSET.

A10038

DATE: 20.8.2018 5 a
05811 905801 905828 905829 905829
905811 905801 905829 905829 905829
905801 905811 905821 905821 905821
905801 905811 905821 905821 905821
905829 05811 905801
905829 905811 905801
905821 905801 905811
905821 905801 905811




Copyright Lappset Group Ltd

% LAPPSET.  A10038

FINNO DATE:

20.8.2018

6a

Esimerkki putken kokoamisesta
Example of installation

LIUKUPINTAAN EI SAA TULLA
LAPINAKYVIA MODUULEJA!

NO TRANSPARENT PIECES ON
SLIDING SURFACE!

REIKIEN NUMEROT
NUMBERS FOR HOLES

© 00

9058°0

Position of the box: 90 degrees




% LAPPSET.

FINNO

A10038

20.8.2018

Valmiiksi kasattujen osien osakokoonpanot ja vara-osa listat.

Ready installed component subassemblies and spare part list.

7

05811

905811

905801
905801

707918—706 909205 x &8 980150 x 8
D ®

905831 x 32 909208 x 16 909119 x 16

S
§%2 g%' Qﬁﬁﬁmm

909252 x 13
05811 ﬁ
905811
700413 x 1
905801
905801 D
909205 x 16 |980150 x 16 |905831 x 32
909206 x 8
O ® §%2
905850 909208 x 8 |980151 x 8

B

Position of the box: 90 degrees

Copyright Lappset Group Ltd




% LAPPSET.
DEEP FOUNDATION

FOOT

DATE: 13.3.2014

4A

Copyright Lappset Group Ltd

100

c 00




Copyright Lappset Group Ltd

% LAPPSET. FOOT

BETON FOUNDATION o

27.10.2015

(2) 905104 |pcs

)

M10




% LAPPSET.

FOOT

DEEP FOUNDATION DATE:  15.5.2018 1(1)
@ (D 909511 |pes|(2) 909519 |Pes|
1
909511 /911155 H
MTOx25 o ) 90x90x650 | | 50x380x380 | |
(909639) (3) 909637 [res|(4) 909638 [pcs|
4 8
@20/10.5 )
(909638) ~ \m# =
£ ! - -
N \\;%%} M10 220/10.5
S E () 909639 |rcs|(5) 905104 [pcs|
S 4] 4]
Miox25 | | M0 | |
/
OPTION FOOT
9095719 MT0O
(D 911155 |ees pes
(909637) & ]
90x90x650

Copyright Lappset Group Ltd




SLIDE WOOD

% LAPPSET

1(1)

22.5.2015

DATE:

DEEP FOUNDATION

m
7 s »
o S
-
py s
o < %
M~
o
% o AN%
| Q

P31 dnoi9 jesddo geelL 1ybrihdo)




% LAPPSET.

SLIDE WOOD

DEEP FOUNDATION DATE:  3.11.2017 1(5)
Il DET 1, 2
§ DET 3

Copyright Lappset Group Ltd

DET 4
DET 10
DET 6, 7
DET 8
SLIDE OPTIONS
706450 706450—-602  DARK BROWN
+1470 706450-603  LIGHT BROWN
706450—-604  LIGHT GRAY
706452 706452—-602 DARK BROWN
+870 706452—603  LIGHT BROWN
706452—604  LIGHT GRAY
WALL OPTIONS
706371-701 BLUE 706371—-707
706371 706371—-702  YELLOW 706371—-708
706571-705  LIME
706371—-704  DRARK GRAY
706571-705  LIGHT GRAY
706371-706  RED




% LAPPSET

SLIDE WOOD

80M DATE:  3.11.2017 2(5)
(O sube |pesi() SLIDE  [pes|() 706371 [pes|(C) 706505 [pes|() 901868 [pes|(1) 903093 |pcs|
H 1) 2l 1 [z 1) H
+1470 | | +870 | | 15x345x750 | | 35x70x730 | | @34x598 | | w@exe0 | |
(2 909876 [pcs|(3) 980100 [pos|(4) 980128 [pes|(5) 999561 [bcs|
2 F K-
M8x40 | | @5x60 | | @7x40 | | ]
0
0 ‘\
901868 %\ s
I \\\
\
/
706371
o]
5
5 \
5
(@]
E
fol
Q‘ [
3 0
o0
% s 706505
i
O
g|
o
(@)




% LAPPSET.

SLIDE WOOD

80OM DATE:  3.11.2017 3(5)
DET; 99 % DET 2
: 2 <f%%//%ﬁ CSIPORAUS
o o > ~— | PRE DRILL
e
75%60
(980700) T 78x90
4 (903093)
706505
— T~ 708371
O ) )
o i : \\ | :
T IS |
2.5 l&
DET 3 DET 4
901868 999561
M8x40 :: h
X
(905875 706371
Soo
@7 x40
(980128)

Copyright 1998 Lappset Group Ltd

DET 5

(980128)




% LAPPSET SLIDE WOOD

DEEP FOUNDATION DATE:  3.11.2017 4(5)
O 707133 [ps|(O) 901868 [pes() 901879 [pes[(6) 909210 [res|(7) 905051 [pes|() 980128 [pes
1] 2] 2] | 4] 4] 6]
/ (o>
10x80x745 | | @30x598 | | | wMexa0 | | o24/84 | | o740 | |

Copyright 1998 Lappset Group Ltd

901868

707133




% LAPPSET

SLIDE WOOD

DEEP FOUNDATION DATE:  3.11.2017 5(5)
DET 6
901879 07 x40
/ (980128)
3\
Insert sheet metal IN to the
plastic cover.
DET 7 DET 8 901868
M8x40
(909210)
024 /8.4
(905051) °
/07133
@\
érk\\\\\\\\\\ 024/8.4
901868

(905057)
M8x40

(909210)

Copyright 1998 Lappset Group Ltd




% LAPPSET.

FINNO

FLOOR

Copyright Lappset Group Ltd

DATE: 28.11.2014 1(1)
(1) 008986 |Pes|(2) 706443 |pes
1 2
IR - 2]
NS — —
i 750x750 32x45x702
s (3) 900240 [pes|(4) 980101 [pcs]
8
DET 1,23 28x70 24.5x70
PCS PCS
PCS PCS
PCS PCS
DET 1 DET 2 DET 3
Naulanauha kannatinlistan puole|le.
04.5x70

1

(980101)




% LAPPSET.
DEEP FOUNDATION

ROPE LADDER

DATE: 13.3.2014

4A

Copyright Lappset Group Ltd




% LAPPSET. ROPE LADDER

DEEP FOUNDATION DATE:  30.6.2016 1(1)
(D 905051 [pes](2) 909519 [ees]

@24/8.4 50x380x380
(3) 909867 |pcs|(4) 909633 |pcs

oy

M8x70 M8
(5) 903093 [pcs Pes

28x90
(O 706462 |pes|() 707393 |pes

(909248) f;j

+1470 +1970

ROPE LADDER COLOR OPTIONS

xXXxxx—301 BLUE
xxxxxx—302 RED
xXxXxxx—303 BEIGE
xxxxxx— 304 GRAY
xxXxxxx—305 BLACK
XXXXXX—306 YELLOW

Copyright Lappset Group Ltd

| —

ATT!
CLAMP's holes
always in a
verfical line
\ ¥8x90
(903093)




% LAPPSET.

DIAG. FLOOR

Copyright Lappset Group Ltd

FINNO DATE: 28.3.2014 1(1)
(1) 008985 |pes|(2) 706508 |pcs|
1 3
32x714x714 | | 32x45x650 | |
(3) 900240 |pes|(2) 980101 |pcs|
6
DET 1 9 =
DET 2 o8x70 | | wa5x70 | |
DET 1
DET 3
U¢ %
N
WL ?8x70
UJ (900240)
DET 2 DET 3
/706508 @4.5x70
(980107)

(900240)




3% LAPPSET.

BOOM

FINNO DATE:  21.3.2014 1(2)
o~ (1) 706510 $@ 907724 ?
M / ” J
45x120x1030| | ]
(3) 905083 |pcs|(2) 909866 |Pes|
4 4
DET1 -3

e

232 M8x60
(5) 980151 [pes|(6) 980150 |Pes|
4] 4
=\ |

‘ ©)

| @
o16/8.4 | | -
(7) 905112 |pes|(8) 900240 |pes
i i

222
BOOM OPTIONS
706510 706510-602  DARK BROWN
T T I 706510—-605  LIGHT BROWN
706510-604  LIGHT GRAY
45x120x1030

Copyright Lappset Group Ltd




% LAPPSET.
FINNO

BOOM

DATE: 21.3.2014

2(2)

DET 1

DET 2 M3x60

(909866) /
S A

(980151)
M8

(980150)

90//724

905112

DET 3

=

[\

Q

Z]
B8x /0

(900240)

Copyright 1998 Lappset Group Ltd




% LAPPSET.

FIRE POSTS

Copyright Lappset Group Ltd

FINNO DATE:  8.6.2021 1(2)
(1) 900240 |Pcs|(2) 900342 |pes]
(i 4] 12
o DET 1 <
Il o8x70 | | Mexi6 | |
(3 901900 |pes|(4) 901939 |Pcs|
| "‘\»)ﬁ | |
I )
k<l B
§> 907695 20.5x36.2x56| | M12x70 | |
/ —T (5) 909850 |rcs|(6) 980150 |pes
L— . |
1 1
DET 2~ = [
) W \
or M8x25 | | M8 | |
(7) 901182 |pes|(8) 901902 |Pcs|
1 2
B B
— a
L Or L L
L 211 /M8x40 30.7x60.9x100
U 907829 i i
~ 0 0T
DET 3
PCS PCS
Nl _s03 B B
e -
3 i i
+1870
| (O 907829 |res|(C) 907698 |Pcs|
1 1
033,7x1454 | | ©933,7x2054 | |
(O 907817 [res|(0) 907695 |Pes
1 1
+0 ] ]
n i I %
340

@33,7x2554




Copyright 1998 Lappset Group Ltd

% LAPPSET.

FIRE POSTS

FINNO DATE:  8.6.2021 2(2)
DET 1 DET 2 901900
. MBx25 8
Pre drilling
@5 I 40 (909633)
N MEx16
NP /(900342
) .”\ @W )
%
90190727
907695 | «
211 /M8x 40
_ 98x/0 (901182)
(900240) e
(900342)
DET 3 DET 4
901600
901596
l é 901590
MT2x/0
T S (901939)
I ———p—




Copyright Lappset Group Ltd

8 LAPPSET. POLE
DEEP FOUNDATION  pam: 1552014 1(1)
(1) 905086 [pes|(2) 909214 [pcs]
244/13.5 M12x50 | |

D44 /13.5

(905086 )

M12%x50
(909214)




Copyright Lappset Group Ltd

% LAPPSET. POLE
DEEP FOUNDATION DAt 6.8.2014 1(1)
il




Copyright Lappset Group Ltd

% LAPPSET.

706544

FINNO DATE: 29.1.2018 1(3)
(1) 900240 |pes|(2) 900342 |pes|
12 2
DET 5, 6 ] _
gex70 | | wmext6 | |
(3) 901182 |pes|(2) 901900 [Pcs|
IS W
=
20.5%36.2x56| |
(6) 909256 |pes|
4|
DET 1, 3 .4 _

2l 30.7x60.9x10Q 216 /8.4x1.6
] (7) 909633 |Pes|(8) 909850 [pes
i 1 1
,‘ — —

| |
M8 | | M8xes | |
(9) 909855 |pes|i0) 980107 [Pcs|
4 3
D[ P
Mex35 | |  oex60 | |
L 980123 |Pes|12) 980128 |pes
U 2] d

.! DET 7
O OET 2 o7x60 | | o7x40 | |
@

(O 907694 |pes|(C) 701088 |pes|(C) 701092 [pes|(C) 706521 [pes|(() 706518 [pes|(C) 706519 |pcs|
/ | ; 1 1 ] 1 |
L 704 | |45xe45x1670] | 15x120x700 | | L 2120 | |95x1005x1365 |95x1005x1365 |




% LAPPSET.

706544

FINNO DATE: 29.1.2018 2(3)
ROPE OPTIONS
706521 706521-301  BLUE 706521—304  GRAY
706521—-302  RED 706521-305  BLACK
706521—-303  BEIGE 706521—-306  YELLOW
LEFT ARCH OPTIONS
706518 706518—602 DARK BROWN
706518—603  LIGHT BROWN
706518—604  LIGHT GRAY
RIGHT ARCH OPTIONS
706519 706519—602 DARK BROWN
706519—603  LIGHT BROWN
706519—604  LIGHT GRAY
DET 1 DET 2
)
&

/01092

MBXx35 S
(909855) =«

@16 /8.4
(909256)

Copyright 1998 Lappset Group Ltd

/06518

D8x /0 /

(900240)

/06518
/06219

\
vl

|

P
H‘ﬁ

701088




706544

% LAPPSET.

FINNO

DET 3

3(3)

29.1.2018

DET 4

DATE:

(900240)

Ex /0
90/694

DET ©

DET 8

M8

901900

(909633)
MEx16
(900342

901902

(900342)

1088

/0

Jox60

(980107)

DET 7

06521

(980128)

P71 dnoig 1osddoq g6l yublAdo)




% LAPPSET.

CLIMBING WALL

HPL DATE: 14.8.2017 1(2)
T (1) 903176 |pes|(2) 909852 |pes
C
o PN A . 4]
&
e J‘ C‘Sﬁﬁ»
T
| wmexso | |
| (3) 909256 |pes|(4) 909633 |pcs|
/7‘/ 4 4
/M | |
P ;ﬂ @
M o16/8.4x16| | M8 | |
DET 3 b ﬂ DET 1,2 ((5) 980123 |pcs| Pes|
! 4
L d\\r — ——
\\\\\\\“~\~\ ’) _: M
D ;;;;j\é
| 07x60 | | N
M PCS PCS
b [;jgi ] T
o d 706540
D/HT\T
D’ b —
WALL OPTIONS
706540 706540-701  BLUE
M 706540—702  YELLOW
706540-703  LIME
/ 706540-704  DARK GRAY
| 706540—705  LIGHT GRAY
' 706540—706  RED
706540—707  GREEN
20x702x415 706540—708  FUXIA

80

1870

Copyright Lappset Group Ltd

800




Copyright 1998 Lappset Group Ltd

% LAPPSET.

CLIMBING WALL

HPL DATE: 14.8.2017 2(2)
DET 1 8530 DET 2
(909852)9[)3176 2222222%
@ T
@16/8.4 0760
(909256) 1(980123)
@
© @&
\ M&
(909633)
¢
DET S5 g16 /8.4
(309256)
9031 /6

) /x60
980123)

|
(909633) .
(

MEx S50
(909852)




3% LAPPSET.

706475

Copyright Lappset Group Ltd

FINNO DATE: 18.8.2014 1(1)
- (1) 706475 |pes|(2) 980128 |pcs|
o N 6
e
e
DET 1 — —
@7x40
(3) 909256 |pcs| Pes|
6 |
o16/8.4 | | ]
PCs| eS|
Pos) o)
OPTIONS
706475
1l 706475—602  DARK BROWN
706475—603  LIGHT BROWN
706475—604  LIGHT GRAY
305
+1470
o
=] N N\
)
. “<))
. N
o 9
o \
L (909256) \
1T 1 +0 N4
a00 2/x30 | 706475 / N\
(980128) >/"




% LAPPSET.

FINNO

WALL LIST

Copyright Lappset Group Ltd

DATE:  9.11.2016 1(2)
S (1) 909256 [pcs|(2) 980152 |pos|
10 10
DET 1, 2, 3 @ @
/) 216/8.4x1.6 024/8.4x2 | |
I (3 909850 [rcs|(4) 909633 [rcs|
G 0 10 10
a 7 || )
GRIP | ]
@ M8x25 M8
0 N pesi(5) 980131 [pcs|
0 WALL L 19
@ @ LIST - H
i @6x60
POs| POs|
o T 0L
POs| Pes|
) @ PCS PCS
@ — —
@ o
® = |
@ 907770 |pcs|() 706646 |pcs
@ 3 O _O +grips [
= 2] 1
@ 000
©) "
2x35/40x165d | c T
@ PCS PCS
;] © B ]
.




% LAPPSET.

WALL LIST

FINNO DATE:  9.11.2016 2(2)
DET 1 DET 2
BOOM
o BACK
_ j & SIDE
}7
- T R
B (@]
Wox60
Af//////gx)777o (980131)

2

907770 -~ o|®
/

216 /8.4
(909256)

. MB8x25

(909850)

- /06645

—  /UDO4AO

Copyright 1998 Lappset Group Ltd




3% LAPPSET.

RINGS

FINNO DATE: 11.11.2014 1(2)
T (1) 706735 [pes|(2) 980128 |pes
T 1 2
TS
K%
Il / ] /‘ I— —
] jis (3) 980123 |pes| Pes|
4] ]
@7x60 ] ]
PG| PCs]
PCS PCS
U] ] ]
ul J
U
D’ — —
RINGS OPTIONS
706735 706735—301 BLUE
M 706735—302 RED
706735—303  BEIGE
706735—-304  GRAY
0 0 706735—305 BLACK
706735—306  YELLOW
o
S
/x40

Copyright Lappset Group Ltd

800

(980123)

(980128)




% LAPPSET.
FINNO

RINGS

DATE: 11.11.2014

2(2)

370
167
=
)
g
[T 11
800
567 370

i
H
(710)

Copyright Lappset Group Ltd

1600




% LAPPSET.

GAME WALL

M80 DATE:  4.11.2019 1(2)
(1) 903176 |pes|(2) 909850  [pes]
"]\ 4] 4]
DET 1,2
| wmexes ||
(3) 909256 |cs|(4) 909633 [Pcs|
8 4]
&y
016/8.4x1.6 | | -
(5) 980123 |pcs Pes|
4] |
*Note: o7x60 | | B
No gaps between:
3—25mm
89—230mm
COLOR OPTIONS
—701  BLUE
—702  YELLOW
—-703  LIME
—704  DARK GRAY
- —705  LIGHT GRAY
—-706  RED
~707  GREEN
1 —708  FUXIA
10 @] 2
9l - Ols
o ||IB 3

*Note

*Note

Copyright Lappset Group Ltd

800

800




% LAPPSET.
M80

GAME WALL

DATE:

4.11.2019

2(2)

GAME WALL OPTIONS

706766

706772

706308

707453

640x702

640x702

640x702

640x702

707209

705705

707433

707386

Copyright 1998 Lappset Group Ltd

\E

(909633)

640x702 640x702 640x702 640x702
709403 709358 709405
640x702 640x702 420x702
DET 1 YN DET 2
(909850)9[X5?76
@ |
316 /8.4 < 3 7%60
(909256) 1 (980123)
:
@ g




% LAPPSET.

RAMP

NET DATE:  16.6.2017 1(3)
(1) 701665 |pes|(2) 706873 [pcs
o 1]
/@ % N

/'/
L \ q DET 1, 3 | 4s5x05x555 | | 1455x505 | |
0 (3 706871 g@ 706872 ?
= \§\\\ ] — -
€S

N DET 5 | -

\‘/ DET 4.6 95x1005x1365/ | 95x1005x1365
(5) 902439 |pes|(6) 902474 |pcs|

1 1
706873 ] -

Left Hand Right Hand

PCS

(7) 909117 |pes|(8) 900240

M8x100 8x70
(9) 980123 |pes(i0) 980128 |pes|(11) 909256 |pes
Tj’ i 73] ihd
g |- =
L B B B
706871 @7x60 @7x40 216/8.4
DET 7
NET OPTIONS
706873 706873—301 BLUE
706873—-302 RED
706873—303 BEIGE
706873—-304 GRAY
706873—-305 BLACK
1455x505 706873—306  YELLOW
S| BOOM OPTIONS
3| 706871 706872
g 706871-602 DARK BROWN 706872—602 DARK BROWN
2 706871—-603  LIGHT BROWN 706872—603 LIGHT BROWN
3 706871—-604  LIGHT GRAY 706872—604 LIGHT GRAY
£
.9
s
3| 95x1005x1365 95x1005x1365




% LAPPSET.

RAMP

NET DATE: 16.6.2017 2(3)
DET 2
= & M8x100
902439 (908117)

S~__ 716/8.4
(909256)

égw\\ /x40
(980128)

— /016065

DET 4

Copyright 1998 Lappset Group Ltd

DET 6

8% /0
(900240)




% LAPPSET. RAMP

NET DATE: 16.6.2017 3(3)

DET 7 DET 8

\
1 /x60

(980123)

/x40
(980128)

®
> d
D d
D i 5
o
V

Copyright 1998 Lappset Group Ltd

600 980




3% LAPPSET.

DIAG. WALL

FINNO DATE: 19.11.2014 1(2)
— (1) 706448 |pcs|(2) 907696 |pcs|
1 4
g DET 1-3 ] ]
o 1
/@] 10x640x1003| | ]
ﬂ{—.—. i —706448) (3 909850 |pcs|(4) 909256 |pes|
86 g~ ), 4 4]
g e — <
Do 0 ‘
il[®] oo oo
00 0 | |
M8x25 216/8.4x1.6
l (5) 909633 |pes|(6) 980123 |pcs|
Il 4 dl
_DET 4-6 @
mMe | | o7xe0 | |
(7) 706898 |pcs| pes
il T |
706898
10x150x1003 | | ]
WALL OPTIONS
706448 706448-701  BLUE
706448-702  YELLOW
706448-703  LIME
706448-704  DARK GRAY
706448-705  LIGHT GRAY
-~ 0o S 706448—706  RED
00 Bo 706448-707  GREEN
o0 a0 10x640x1003 | 706448-708  FUXIA
oo, © S
g 0o S WALL OPTIONS
D b 706898 706898  DARK GRAY
| I |
il |
0 D 10x150x1003

Copyright Lappset Group Ltd

131




Copyright 1998 Lappset Group Ltd

% LAPPSET. DIAG. WALL

FINNO DATE: 19.11.2014 2(2)

DET 1 DET 2

M3
(909633) 216 /8.4

(909256)

907696

) Oi
» ©
/ M8x25
(909850)
DET 3 DET 4
M&
(909633) ©16/8.4
///// (909256)
@ . g 907696
Bl E
Q@QK -

@ /x60
(980123) M8x25
(909850)
DET 5 DET 6

@{:@@ 07x60
(980123)




% LAPPSET.

FRAME ROOF

Copyright Lappset Group Ltd

FINNO DATE: 1.8.2014 1(2)
(1) 706428 |pes|(2) 706429 |pcs|
il il
706428 /
15x93x888.5 | | 32x45x705 | |
(3) 900850 |pesi(4) 907911 [Pcs|
\ 8 18]
) || 67
Me | | wmexi2 | |
(5) 980123 |pes|(6) 980128 [pcs|
8 12
o7x60 | | @7x40 | |
e PCS PCS
PCS PCS
DET 1-3 —] ]
STRIP OPTIONS
206499 706429-602  DARK BROWN
706429—603  LIGHT BROWN
706429—604  LIGHT GRAY
32x45x705




Copyright 1998 Lappset Group Ltd

% LAPPSET.

FRAME ROOF

FINNO DATE: 1.8.2014 2(2)
DET 1 DET 2
M6 /x60
Ly///////zéiﬁ§850> (98OW23)
77 ﬂ>‘g
_
. . AN ——
Mox12

(907911)

DET 3
J7x40

oy

/06429




% LAPPSET.

BRIDGE

Copyright Lappset Group Ltd

FINNO DATE:  24.8.2015 1(3)
DET 1, 2 (1) 706453 |pes|(2) 707255 |pes
. S 2]
15x145x600 | | 45x120x2480| |
(3) 707260 |pes|(4) 905083 |pcs|
§ M i ) i
‘ 2375x600 | | @32 | |
(5) 980151 |pes|(6) 909232 |pcs|
U il 4
Y
DET 1, 4 § § o16/8.4 | | sx20 | |
(7) 905112 |pes|(8) 900240 |pcs|
4 16]
- @22 | | esx0 | |
(9) 980123 |pes|i0) 980128 |pes
DET 1, 2 — —
E 201
o7x60 | |
(17 980150 |pcs




% LAPPSET.

BRIDGE

Copyright 1998 Lappset Group Ltd

FINNO DATE:  24.8.2015 2(3)
1: 30
oy = o = o
I {
I {
== == == == ==
AR i i 1 I
1 2400 1
1: 30
(@
g
[(e
Vi i 1 1 1
\ 2320 \
NET OPTIONS
707260 707260—301 BLUE
707260—-302 RED
707260—303 BEIGE
707260—-304 GRAY
707260—305 BLACK
707260—-306  YELLOW
2375x600
RAILING OPTIONS
707255 707255—-605 DARK GRAY 707255—-609 GREEN
707255—-606 GRAY 707255—-610  YELLOW
707255—-607 RED 707255—-611 LIME
707255—-608 BLUE 707255—612  FUXIA
45x120x2480




8% LAPPSET.

BRIDGE

FINNO DATE: 24.8.2015 3(3)
DET 1 DET 2
o i in side
Lk
Sx120
909232
{ S <j\ 9
O ~ 905112 yyf
N o Ny
i -
= {_J : . (980151)
m 905085
DET 3 DET 4 \
N NN
/x40 e \ N
C%@U%>\\\ e 7 T X
B7x60 \ | / <N
. )

/

DEX/
(900240)

)
A
( ':A/
&

Copyright 1998 Lappset Group Ltd

MBx4> -

(901899)

DET 6




% LAPPSET.

FINNO

PLANK BRIDGE
1(3)

DATE:

30.10.2019

(1) 707255

(2) 707259

PCS

Copyright Lappset Group Ltd

i 2]
45x120x2480| | 2340x800 | |
(3) 707262 |pos|(4) 980123 |Pcs|

1] E 140]
| e7xe0 | |
(5) 980128 |pes|(6) 909232 |Pcs|
E 128 4]
@7x40 | | 8xi20 | |
(7) 900240 |pes|(8) 980151 |pcs|
16] 4]

S
| ot6/8.4 | |
Pes|10) 905112 |Pcs|
4] 18]
o g22 | |




% LAPPSET.

FINNO

PLANK BRIDGE

DATE:

30.10.2019

2(3)

1:40

NET INSTALLING

Copyright 1998 Lappset Group Ltd

!
f 240
| i
7 il =7 o ‘[
3 B ( 260 Y
©
b o ) i~ 1 [ L1
280
11 11 11 11
2400
1:40
(@]
~
2 2
1T 17 17 17
2325
BOOM OPTIONS
707255 707255—-602 DARK BROWN 707255—-608 BLUE
707255—-603 LIGHT BROWN 707255-609 GREEN
707255—-604 LIGHT GRAY 707255—-610  YELLOW
707255—-605 DARK GRAY 707255—-611 LIME
¢ 707255—-606  GRAY 707255—-612  FUXIA
45%120x2480 707255—-607 RED
NET OPTIONS
707259 707259—-301 BLUE
707259—-302 RED
707259-303 BEIGE
707259—-304 GRAY
707259—-305 BLACK
707259—-306  YELLOW

2340x800




% LAPPSET.

PLANK BRIDGE

FINNO DATE:  30.10.2019 3(3)
DET 1 DET 2 905112
M8 (980150)
216 /8.4 (980151)
905083
%
PN
e %\/"(ﬂ
716 /8.4 (98m5w) d
M8x180 (900471)
900112
DET 3 DET 4
s
Mot 27 x40 .
In side m\ ™
8x120 (B
27x60 —

905112 i

— e
216 /8.4

(9807151)
905085

Copyright 1998 Lappset Group Ltd

DET 5

(900240)

(980123)

/x40
(980128)




% LAPPSET.

FINNO

707285

Copyright Lappset Group Ltd

DATE: 24.11.2015 1(2)
(1) 707285 |pes|(2) 900240 |pcs|
Sorgil 20
DET 1 @5@
1600x2305 | | @8x70 | |
(3) 980128 |pcs|(4) 980123 |pes
F ] F 19
o7x40 | | o7x60 | |
PCS PCS
PCS PCS
1:25
N | B
390
e e e i
5 g
5 g
o
o
[Ce]
A o
i J S
o 8
(o]
(0]
b 3
o
N
M
irY I
184 NI
v | 2305 il
2400 |
|




M LAPPSET. 707285
FINNO DATE: 24.11.2015 2(2)
NET OPTIONS
707285 707285—301 BLUE
707285—302 RED
707285—303  BEIGE
707285—304 GREY
707285-305 BLACK
707285—306  YELLOW

M

(900240)

—

Copyright 1998 Lappset Group Ltd




#® LAPPSET.

FINNO

705372

DATE: 8.1.2021 1(2)
(1) 705372 |res|(2) 900240 |pos|
H I% 1] 120
1600x2440 | | @8x70 | |
(3) 980128 |pes((4) 980123 |Pcs|
E 18] 12
g7x40 | | o760 | |
PCS PCS
PCS PCS
1:25
I 940 940
@ 620 620
300 300
o g g o
)
]
\
o
o
[(e]
© ) S
\ N
ol 8
©
»
TR
o
i -
f /
\
v 1

Copyright Lappset Group Ltd

2530




% LAPPSET. 705372

FINNO DATE:  8.1.2021 2(2)
NET OPTIONS
705372 705372—301 BLUE

AN

705372—302 RED
/00572—-505 BEIGE
/053572—-3504 GREY
705372—-305 BLACK
705372—306  YELLOW

DET 1

ﬂ (980128)

©0/x60
980123

DET 2

J8x /0
(900240)

—

Copyright 1998 Lappset Group Ltd

INFO:

Asennusmitta /

Installation
dimension

?/ BOOM




% LAPPSET.
FINNO

707530

Copyright Lappset Group Ltd

DATE:  24.11.2015 1(2)
(1) 707530 |pes|(2) 900240 |pcs|
DET 2, 3 1] 24
DET 1 || -
S 755x2355 @8x70
(3) 909867 |pes|(4) 980150 |[pcs|
- 10
’ N
NI ’ N/
/&" s M8x70 M8
/‘?\‘\*ﬁ/\' E E
(B <\ — —
U PCS PCS
@ H b
J @ 1:25
325 330 330 330 330 330
B S & & s> & &) [
o
0
M
L @ @ @ e @ @ - 1
2400




% LAPPSET. 707530
FINNO DATE:  24.11.2015 2(2)
NET OPTIONS
707530 707530-301  BLUE
707530-302  RED
707530-303  BEIGE
707530-304  GREY
707530-305 BLACK
707530-306  YELLOW
755x2355
DET 1 DET 2
210 (2x)

Boom
Center Line

e — =

o0
50

Copyright 1998 Lappset Group Ltd

DET 3

M8x70 <

(909867) |

=
&




% LAPPSET. 707625

Copyright Lappset Group Ltd

FINNO DATE: 22.10.2020 1(2)
OPTION 1. No wall on the sides (D 980128 [rcs|(2) 909256 |pcs
= il Rl
o
e - .
93x93x2150 ®16/8.4

(3) 908057 |Pcs|(3) 903093

N
el
NE

G | |7

332/29-L5/30 |  ©8x90
(5) 900342 |pcs|(6) 901900

el
i (9]
| | w

o

M8x16 20.5x36.2x56

(7) 909850 |Pcs|(8) 980150

e

M8x25 M8

1y U (9 901182

@11,/M8x40 30.7x60.9x100

N
=)
NE

_U
9]
%]
©
Q
«©
o
N
o
o
%]

<f.>Q - -
o
pes|(C) 908044 |Pcs|
] 2]
| @33.7x679 | |
” (O 911529 |pes|(0) 907920 |[pes

| |
| |

/OR/




Copyright Lappset Group Ltd

#® LAPPSET. 707625

FINNO DATE: 22.10.2020

1(2)

OPTION 2. Wall on either side (move vertical bar 70mm)




% LAPPSET.

FINNO

707625

DATE: 22.10.2020

2(2)

DET 1

DET 1

Copyright 1998 Lappset Group Ltd

DET 2




Copyright Lappset Group Ltd

% LAPPSET.

FINNO

707729

DATE:

17.3.2016

1(1

)

(1) 909850 |pes|(2) 909633 |pcs|
3] 3]
)

> 5
M8x25 | | M8 ]
(3) 900240 |pes| pes
O | ]
@8x70 | | ]
PCS PCS
(O 707696 |pcs PCS

(O 902086

15%x265%x275

148x172x254

PCS

PCS

25 1 40
(4x)

|

PCS

PCS

PCS

PCS




% LAPPSET.

GRIP

FINNO DATE:  18.1.2016 1(1)
(1) 900240 [pes|(2) 900727 [pes
1 §§§§§§ 1
| M _
3)
N | _
B M10x80
PCS PCS
. _ |
(3 907688 [Pss|(3) 907701 [Pes|
L 1]
765 B | _
PCS PCS
- PCS PCS
DET 1 ) __ __
Ox80
Pre—dril
100 Hole. | ___
ooz oo

M1
(9\77)%)

N

PCS

PCS

Copyright Lappset Group Ltd

SET 3

—

PRE—-DRILL HOLE.

St

870
(900240)

PCS

PCS

PCS

PCS




% LAPPSET.

FINNO DATE

oo

708046

9.11.2016

1(2)

Copyright Lappset Group Ltd

(1) 904336 |pcs|29) 906746 |pcs|
9 9
< |
@6x20 | | Size U, Grey| |
(3) 902232 |pes|(4) 905090 |pcs|
9 9
M10x55 | | @45 | |
(5) 901302 |pes|(6) 909637 |pcs|
9 9
=
@20/105 | | w0 | |
(7) 905115 |pcs| pes
9 |
g30 | | -
PCS PCS
PCS PCS
(O 706646 |pcs| pes
]
12x686x1660 | | -

PCS

PCS




% LAPPSET.

FINNO DATE:

708046

9.

11.2016 2(2)

copyrignt 1YY8 Lappset Lroup Ltd

HUOM!

vaihto.
Sddtomahdollisuus (90°,180°,270°).

Jos asennetun otepalan suuntaa— tai
paikkaa halutaan muuttaa.

Irrota otepalan kiinnityspultti ja
otepala, kddnna tai vaihda.

Siirra tarvittaessa tappi oikeaan
paikoilleen ja lopuksi kiinnitd
muovitulppa @30 paikoilleen kaikkiin
otekokoonpanoihin.

@30 (905115)
plug

Upotusreijat
Holes

Tappi

NOTE:

Grip positions and angles
are adjustable (90°,180°270°).

Grip can be repositioned by removing
the fastening bolt and pulling the
grip off.

Securing pin can be repositioned
when angle is changed.

After the parts are reassembled.
Finish the assembly by fastening the

cover plugs (@30).

Kaanto suunnat
Angle of rotation
90, 180°, 2/0°




16.2.2021

LApp
Halite 178 ET Groy

10 PL
FINCARSVANIEN, td

Loy
gg;g«e% broup L1
PhOVANH

‘E}Sﬁ I'.J.:‘menm

123456
I Wi
F5675g

FSe7my F

e,
et a1

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit
- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 1 mukaisesti.

2) Tuotekylttitarra
- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 2 mukaisesti.
- Huom. Al3 kiinnité tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av foljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

- Rengor den pulverlackerade metallytan eller laminatytan sa att den blir fri frAn smuts och fukt. Fast etiketten enligt fig. 2.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker
- Clean the painted metal or plywood surface from dirt and moisture. Fasten the sticker as shown in the figure 2.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a 'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre seche (voir image 2).
- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliere ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben
- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-Entfernen Sie zunachst Schmutz und Feuchtigkeit vom lackierten Metall bzw. von der Holzoberflache und bringen Sie den

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTD P.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 | lappset@lappset.com | www.lappset.com





